4 40

1. 8/8/24
A 8 8 24 B 8 8
24 C 8 8 24 D
2.
A B C D
3.

A 256 B 8 C 16 D 32
4. Flash MX
A command-based B timebased C icon-based D

(A).GIF (B).BMP (C).PNG (D).JPG

?
(A)USB1.1 (B)USB2.0 (C)SCSI-1 (D)Print Port (E)IEEE 1394
1. ?
(1).Al  (2.BMP (3).CDR (4).DXF (5).EPS (6).GIF (7).PNG
(8). WMF
(A)138 (B)13458 (C)3578 (D)158
8. ?
(A)H.261 (B)IEEE 1394 (C)MPEG-7 (D)Video for Window (AVI)
(E)Quick Time



A Sampling Rate, Number of Channel, Sampling
Resolution)
(A)11.025KHz, 1, 8-hit
(B)22.050KHz, 2, 8-bit
(C)44.100KHz, 2, 16-bit
(D)22.050K Hz, 1, 16-hit
(E)44.100K Hz, 2, 8-bit
(F)11.025KHz, 2, 16-bit
10. ?
(A)Huffman (B)ADPCM (C)Run-Length (D)LZW

60
1. (10 )

(1)Synchornization (5 )
(2)(@Microsoft DirectX  (b)JavaJMF ( )5 )
2.Please explain the following terms, and spell out the full names of these

abbreviations: MIDI, FDDI, DSP, DAB, RTSP. (10 )

3. (digitize) (Sampling rate)
(3%) (resolution)  (3%)
(22KHz/ ) (4%)
4. storyboard ? (10 )
5. (10 )

6. Please explain the MPEG-I technique, and its video compression Strategy. (10 )



25  (50%)

D
(2)
3
(4)

2.32
(1) 4GB (2) 32MB  (3) 512KB  (4) 1GB

3. 1024*768 75

)
(1) 384MHz (2) 17MHz (3) 59MHz (4) 75MHz

4 1011, 2
(1) 1010, (2) 1001, (3) 0101, (4) 0100,

5. (A+B)=1  (AOB)=0 (A+B) 0 (AOB)
1 0@ 103 1@

6. USB 2.0 Full speed
(1) 480Mbps (2) 400Mbps (3) 12Mbps (4) 6 Mbps

7. X86
() 2GB (2) 4GB (3) 8GB (4) 16GB

8. DNS
(1) Dynamic (2) Transparent (3) Relation (4) Round-robin

.
() IDEA (2) RSA (3) RC4 (4) Blowfish



10. 1101 2
() 0010 (2) 0011 (3) 0101 (4) 1111

11. windows 2000 MAC Address
(1) ipconfig (2) routeprint (3) tracert (4) ap-a

12. DVD
(1) 720x480/30fps (2) 352x240/30fps (3) 640x480/30 fps
(4) 480x480/30 fps

13. SSID
(1) 32 (2 48 (3 64 (4 128

14. Linux
(1) /usr (2) /bin (3) /sbin (4) /etc

15. Linux
(1) top (2) uptime (3) vmstat (4) w

16. 40G
Q) (sector) (2) (track) (3) (cylinder) (4) (cluster)

17. 423 5= (1) 103 (2) 1133 (3) 12315 (4) 133 56

18.
(1) AND,NAND,OR (2) NOT,NORAND (3) AND,ORNOT
(4) NAND,NOT,NOR

19.
Q) hub (2) bridge (3) gateway (4) switch

20. 100Mbps 1 Bittime
(1) 10% (2) 10's (3) 10% (4) 10°%

21. Which of the following Protocol is the standard way to transfer files on the
Internet uses
(1) PING (2 TCP (3) SET (4 FTP



22. The CPU time for binary search is propositional to
(1) n* (2 nlogn (3 n (4) logn

23. Which of the following languages are object-oriented languages?
1. C++
2. Java
3. Smalltalk
4. SQL
5C
6. Ada
Q) 12 (2) 123 (3) 14 (4 124 (5 1236 (6) 15

24. A device that consists of several disks work together asaunit is called
(1) DATDisk (2) SCSIDisk (3) IEEE1394Disk (4) USB Disk
(5) RAID Disk

25. Which of the following descriptionsis not correct?
(1) A tree must have least one node.
(2) A complete binary tree of depth k has 2-1 nodes.
(3) The number of subtrees of anodeiscalleditslevel.
(4) A binary treeis afinite set of nodes which is consists of aroot and two digoint
binary trees.



5  (50%)

1. A binary tree has n nodes. The node structure of linked representation of thetreeis

L Data | R

(a)Write a non-recursive algorithm for the inorder traversal on the binary tree with
astack, and the stack isimplemented by an array.  (6%)
(b)How many elementsthis array at least should have ? Why?  (4%)

2. Suppose the various functions of acompiler can be classified into the following six
phases:
(a) Code Generation phase
(b) Code optimization phase
(c) Semantic phase
(d) Lexical phase
(e) Intermediate code generator phase
(f) Syntax phase
Please give the processing sequence of these phasesin atypical compiler? And
briefly explain their functions one bye one.  (10%)

3. Please explain the following terms, and spell out the full names of these
abbreviations: GUI, ISP, URL, ISDN, VOD. (10%)

4. Please explain the following five kinds of algorithms, and give application
examples separately: Greedy, Divide-and-Conquer, Dynamic Programming,
Backtracking, and Branch-and-Bound algorithms.  (10%)

5. Please discuss and compare two parameter passing methods. call-by-value and
call-by-reference.  (10%)
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